2R IERIR (57 RA)

5£18[0 IbEES3—- M IvIAS

8B+ 1000m
SR BRI No K& FhiE lEfz FP &&=icix fBE
RES 1 4 LA FK WEER (F2) 111 1.38.65
2 14 fl X Vortex (912) 222 1.46.18
3 15 #l EK Vortex (#12) 213 1.46.74
4 8 FRt# iR fgitEER (§2) 224 1.47.27
R 5 17 K KAE Vortex (#12) 13 1.47.55
6 58K M BHEER (51) 13 1.49.37
7  2WUF X HBHESR (F3) 14 1.47.09
8 3MH &K BHER (52) 24 1.48.54
FiE 9 164/l #EZ Vortex ($12) 3 1.48.61
10 18 lUAX X Vortex (H12) 3 1.50.10
11 1 #véE Z8| ILBEREAT (14) 3 1.50.92
12 9 E£E BE fgitEER (§2) 3 1.55.21
13 20 #L &) BII1ZE— KRG — MMER] (FR3) 4 1.51.37
14 11 =@ 33} ERER(52) 4 1.52.75
15 10 BB 2% EXER(E3) 4 1.57.00
16 21 8 5K HB)IRE— K27~ MMER] (1) a 1.59.75
17 12 AHE X EFEERIRER (h2) 5 1.56.55
18 13 #& [EE HBEPFER (1) 5 1.59.78
19 19 ik PB4 BII1ZE— KRG — MMER] (FR3) 5 2.08.12




